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Candidates are required to give their answers in their

1.  Answer any ten questions:

own words as far as practicable.

2x10=20

@I i 2 Ted wie ¢

a)

b)

Distinguish between closed economy and open economy.
T% @ & SLAifed Wy A1 F9 |

What is meant by intermediate good? Give
example.

SGS| 7/9[] FI(F A0 2 SWZF 713 |

Define National Income.

ISR SR A< 7€ |

Define Green GDP.

IS e STSTFA GLAMCT H<| WIS |

Distinguish between Real GDP and Nominal
GDP.

oF© Fol STl TeoWe ¢ FINE Ze STerESe
T AR ) AN 4 |
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g)

h)

i)

k)

)
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Define transfer payment.
ZING A HLE:! MG |

What is high powered money?

Tob S| I8 Y BICF e 2

What do you mean by structural unemployment?
PN (G A0S 6 (=2

What do you understand by balanced budget?
T MG 0o [ (R 2

Write the Keynesian consumption function.
REPR (@19 ST (774 |

What is the equation for IS curve?

IS s el s 2

What is paradox of thrift?

frerRre paradox 52

Given that tax is not a function of income, write
the expression for the multiplier for changes in
Government expenditure in the Simple

Keynesian model.

9 IW S@T ToAF TSI ) 27, O AL
(@A O e A T ATS o oG @712 |

Define the growth rate of GDP.

%51 Serg e ST Jfard R A< wis |
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2. Answer any four questions: 5%x4=20

@-CFI oo e Ted nile ¢

a)

b)
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Explain briefly the circular flow of Income in a

two-sector model.

G0 12 (T3 TCOE ST JEES AL PN
34|

Complete the following equations:

(TFRef @ fer ool F31)e

i) GNP (Zo1 &SR Tesfiwe) = NNP
(A ISR Teofma) +

ii) NNP (S &Sy Seoiiwe) = NDP
(S5 Sreredid Tesive) +

iiil) GNP at market price (&M ZeT GIOR
Tesiwe) = National Income at market price

(IS TR = +

iv) NI at Market Price (eIt GoRT SI13) =
NI at Factor Cost (S 25 SRRl BI3)
+

v)  Personal Income (/&g @1%1) = Disposable
Personal Income (I35 foery =)+
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d)
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What are the functions of money? Briefly

explain.

wda SRl [ 6 ©f A SE 59|

If the consumption function is C= 150+.8Y and

investment is I = 150,

T celol SRR C= 150+.8Y @R Rfaael 1= 150
=3,

1)  Find the equilibrium level of income.
IR B O R ?

11) IfI were to increase to 200 what would be
the effect on equilibrium income?
v RG] (08 =200 2, S0 I SR
Tofg 1S &Sl 21T 2

111) What is the value of multiplier in this
case?
GG BAF-AF 3 F© ?

Discuss the various components of demand for

money.

s wifewi CoAmiReiel St 59 |

Briefly state the assumptions of the Simple

Keynesian model of Income determination and

state the equilibrium condition.

e (PETAR BT SN fe] FEHA (778 @R

SRy TEIR *S @7 |
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3.  Answer any two questions:

10x2=20

@I BB 2Aeea Ted 7l ¢

a)

b)
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In a hypothetical economy,

(936 FEfe weifers)

GDP (%=1 Srergdd Tes{ive) = Rs.6,500

Gross Investment (Z1 el = Rs.730

Net Investment (5 f&fvcial) = Rs.520
Consumption (¢®l9) = Rs.4,300

Government expenditure (FFSIF! 296) = Rs.900
Budget deficit (&6 q6f) = Rs.20

Find the value of (S sifioiafem ww F9):
2x5=10

i)  NDP (i srerede Tesiin)
ii) Net export (5 qAI)

ii1))  Government Taxes minus Transfers (TBEH

M M TR wF)
iv)  Disposable Income (IC9T =7)
v)  Personal Savings (felerg %3)

Derive the Govt. Expenditure multiplier in a

Simple Keynesian model with tax as a function
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d)
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ofincome (T =t(y)). Explain how the tax system

functions as a built-in stabiliser. 8+2=10

3 W SR To TS TIe 27, ORE AE FEAR
O TR 8 ARTETT wof Teols 5 | F7F!
4 3%l [Ferr sefile ez o aw 3@
Ol ICEAIDA 4|

Derive the LM curve graphically. Explain the

slope of the LM curve. When does the LM curve

shift? When do we have a vertical LM curve?
5+1+2+42

LM @2 foq e Sestg 55 | LM @157 Bisto 2t
F9 1 FU9 LM @IS @ 92 99 LM @2 Sarw
TR AR ?

What is inflation? What is demand pull inflation?
What are the effects of inflation? 2+2+6

Uit 2 siftngia-sive surfe [ 2 qursifed
o fFe



